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43.—Liabilities of Chartered Banks for the Calendar Years 1916-1919.

Schedule. 1916. 1917, 1918. 1919.
e $ $ $ $
Liabilities to shareholders—
Capitalpaidup...................... 113,175,353 111,637,755 110,618,504] 115,004,960
Rest orreservefund................. 112,989,541} 113,560,997 114,041,500 121,160,774
Total.......................... 226,164,894 225,198,752 224,660,004| 236,165,734
Other liabilities— ‘
Balances due to agencies of Canadian
banks, or to other banks or agencies
in the United Kingdom............ 3,693,293 3,174,754 4,460,369 5,908,764
Balances due to agencies of Canadian
banks, or to other banks or agencies
elsewhere than in Canada and the
United Kingdom.................. 16,074,466| 22,187,475 26,737,157| 29,901,770
Balance due to Dominion Govern-
ment after deducting advances for
credits, pay lists, ete............... 30,333,980 47,933,871} 132,889,924] 181,768,998
Balance due to provincial govern- .
MENtS. . oeet i 22,537,970 20,848,996 19,755,832 22,049,660
Deposits by the public payable on
demand in Canada................ 428,717,781] 468,049,790| 587,342,904| 621,676,065
Deposits by the public payable aftef ,
notice or on a fixed day in Canada..| 780,842,383 928,271,838] 966,341,499|1,125,202,403
Deposits made by and balances due
to other banks in Canada.......... 10,418,946, 8,689,741 9,386,432] 10,641,494
Deposits elsewhere than in Canada..| 155,603,314 178,098,526| 206,065,621 238,731,784
Notes in cireulation.................. 126,691,913; 161,029,606 198,645,254| 218,919,261
Liabilities not included under fore-
goingheads.................... ..., 21,991,291 27,943,639 32,734,828| 40,782,369
Total. ..o 1,596,905,337(1,866,228,236(2,184,359,820 2,495,582, 568
Total liabilities to shareholders and
other liabilities..................... 1,823,070,2312,091,426,988(2,409,019,824/2,731,748,302
Excess of assets over all liabilities—
undivided profits not included....... 16,216,478 20,132,567 23,311,594 22,819,816

1The statistics in this table are averages computed from monthly returns in each year.



